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(1) = vt x=5%x7=35 35m
(2) x=vt x=14x2.0 =28 28km
_x _ 400 _
3) wv= - v=_o= 2.5 2.5m/s
_x _ 60 _
4) wv= - v=" 5.0 5m/s
_x _ 200 _
B) wv= - v=",7=40 40km/h
6) t== t=§%=50 5.0 f
M == t=§§=18 187
8 ¢t==% t=2=15 1.5 FERY
v 40 _—
9) x=uwt x=15%x30 =450 450m
(7' 7 Difif)
(10) x=wvt x=1.8x%x50=90 90m
(7' 7 OI)
1y v== v=%=&5 3.5m/s
(77 7DfEE)
(12) v== v=§§=45 45m/s
(77 7DfEE)
(13) 77 74404
(14) 75 7444
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v=v,+v,=4+1=5
XfroHEL M E ZIEL T 5

v=v, 4 v, =4+ (—1)=3
Ao E 2 EE 35
v=v, 41, =24 (-5)= -3
XNownziEe 35

Vg = Vg — vy =15 —12=3
XKEMEZIEE T 5

Vg = Vg — Uy =10 — 12= — 2
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UABZUB_UA:_10_12:_22 22m/s
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